Paul, I think that you are wrong. May be your interpretation of reproduction is biased by the fact that you usually work with models of economies that are always growing at the maximum rates of growth, and therefore there is no place for increasing accumulation using money coming from outside the capitalist sector or from capitalists who were not yet investing all his surplus value? I don’t know.
But suppose a capitalist who consume all his surplus value: his production of value amounts to 24: 12 c + 6 v + 6 s, and he consumes all his s in this way: 3 units of normal goods (Sg), 1 luxury good (Sl), and 2 units of domestic services (servants): Sd. We can see this in Table 1:

Table 1
	C = 12

	V = 6
	Sg = 3
	Sl= 1
	Sd = 2


In terms of use value, production is 24, ie 12 means of production, and 12 means of consumption = 6 normal means of consumption for workers plus 3 for himself plus 1 luxury means of consumption, and 2 means of consumption for servants. We have it in Table 2:

Table 2
	MP = 12
	MCg = 6 + 3
	MCl = 1
	MCg = 2


But if he puts his servants to work in a firm of luxuries (that, according to you, would be a firm where labour is unproductive) he will “enrich” himself instead of “impoverishing” himself (using approximate words from Smith). Of course he will need to invest in new means of production and combine them with the same work he was paying at home and now pays inside the firm as productive labour. Those workers will produce now new surplus value for him and of course new value added and new total value. Total value produced is now 26,67 instead of 24, and value added 13,33 instead of 12. Note that the rate of surplus value and the value composition of capital do not change.

In terms of value he detours the 2 units of money that he consumed before as revenue for his servants to buy now means of production for 1,33 units and capital variable for 0,67 (wages are the same, but they were not capital before but revenue), and then obtain 0,67 of additional surplus value. See Table 3: his surplus value is now 6,77 = the sum of 6 (as before) plus 0,67 coming form his new productive workers.
Table 3
	C = 12


	V = 6
	Sg = 2,33


	Sl = 3
	Sk=

1,33

	∆C = 1,33
	∆V = 0,67
	
	
	


Of course, that means that the material composition of production has changed. We have now more means of production (14,67), and the same means of consumption (12). But the composition of the means of consumption has changed at its turn: we have now 3 units of luxuries and just 2,33 of  normal goods consumed by the capitalist; the rest (6,77) are of course consumed by workers. See Table 4:
Table 4
	MP = 13,33 + 1,33


	MCg = 6,67 + 2,33
	MCl = 3


So the conclusion is clear. To put servants to work in a productive firm, even if that firm produces luxuries, amounts to the capitalist to expand the ground for accumulation (of both, value and surplus value on the one hand, and means of production on the other hand). Of course all luxuries are “contingent” in my own terms, but require labour that is absolutely productive if the workers are employed in a capitalist firm instead of at home.
And note finally that the luxuries referred to could even be the same “domestic services” as before, ie of the same material nature that those workers performed at home before.

